
Âge  au  1er  janvier  
REÉÉ  –  familial  ou  individuel  

Répartition  cotisation  50/50   Répartition  cotisation  optimale  

Martin   France   Martin   France   Martin   France  

2  ans   9  ans   750  $   750  $   0  $   1  500  $  

3  ans   10  ans   750  $   750  $   0  $   1  500  $  

4  ans   11  ans   750  $   750  $   0  $   1  500  $  

5  ans   12  ans   750  $   750  $   0  $   1  500  $  

6  ans   13  ans   750  $   750  $   0  $   1  500  $  

7  ans   14  ans   750  $   750  $   0  $   1  500  $  

8  ans   15  ans   750  $   750  $   0  $   1  500  $  

9  ans   16  ans   750  $   750  $   1  200  $   300  $  

10  ans   17  ans   1  500  $   0  $   1  500  $   0  $  

11ans   18  ans   1  500  $   0  $   1  500  $   0  $  

12  ans   19  ans   1  500  $   0  $   1  500  $   0  $  

13  ans   20  ans   300  $   0  $   1  500  $   0  $  

14  ans   21  ans   0  $   0  $   1  500  $   0  $  

15  ans   22  ans   0  $   0  $   1  500  $   0  $  

16  ans   23  ans   0  $   0  $   600  $   0  $  

Total  SCÉÉ  et  IQÉÉ   10  800  $   6  000  $   10  800  $   10  800  $  

Total  SCÉÉ  (rendement  
3  %)  

21  951  $   26  998  $  

  


